Mathematics-1I ~ X20001
(2™ Sem Civil PDDC 2013)
Assignment-5, Beta and Gamma Functions)

1. Prove that T'(m + 1) = mI'(m). Also prove I'(m + 1) = m! when m is positive integer.

T(m)'(n)
T(m+n)

o0 1
3. Prove that / e dy = Vr=T <§>

0

2. Prove that S(m,n) =

4. Evaluate following integrals using Beta and Gamma functions

5. Provg that
(a) Bm+1,n) Blmn+1) B(m,n)
m o n m4+n

(b) B(m+1,n)+ B(m,n+ 1) = B(m,n).

(c) Ea(m —a)™(b—2)"dz = (b—a)"T""MB(m+ 1,n+1).

6. Compute 5(1.5,2.5), (—g, g)

w/2 /2 1
7. Show that / Vsin 8df x / db = .
0 0 vcos @
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